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Exam Id
Name:
Exam Date: 12-Mar-2023
Module Name: TEACHERS
Duration 120
Batch: 12:15-14:15
1) General Studies
Question No. 1 1.00
Bookmark

When was the first Battle of Tarain fought between the forces of Muhammad Ghori and Prithviraj
Chauhan?
F26Q 6911 99° gARIRIR 651219 FARIRIERIR IR CAURNRR FelFl YT 6R6Q 6RIRAMI?
(A) O 1193
1193
(B) O 1203
1203

(C) O 1191 (Correct Alternative) (Choosen Option)
1191 (Correct Alternative) (Choosen Option)

(D) O 1198
1198

Question No. 2 1.00
Bookmark
Which among the following planets is the hottest planet in our solar system?
FIMGIS JLaIee AR 609, 2lfl 6413 F4RR 49019 Ked 9w 26T ?
(A) O Venus (Correct Alternative) (Choosen Option)
4@ (Venus) (Correct Alternative) (Choosen Option)
(B) O Mars
A%Pm (Mars)
(C) O Mercury
gl (Mercury)
(D) O Earth
21 (Earth)

Question No. 3 1.00
Bookmark
Which among the .following Organisations publishes the 'World Economic Outlook'?
FImEES AIQ 69@ 2°gl, AR RERIERITR RGPS (World Economic Outlook) gRIFIS K6Q1?
(A) O Organisation for Economic Cooperation and Development
26ReR AL6LIol 98° IR F°FI0R (Organisation for Economic Cooperation and Development)
(B) © World Economic Forum (Choosen Option)
24 22l6R6S 6€FI9E (World Economic Forum) (Choosen Option)
(C) O International Monetary Fund (Correct Alternative)

21861818 €191 9§ (International Monetary Fund) (Correct Alternative)
(D) O World Bank
Q¢ QUIe (World Bank)

Question No. 4 1.00
Bookmark
When did the Simon commission arrive in India?
IR AT 6969 WAL E'JIQIEJRI ?
(A) O 1928 (Correct Alternative) (Choosen Option)
1928 (Correct Alternative) (Choosen Option)
(B) O 1929
1929
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(C)O 1927
1927
(D) O 1930
1930

Question No. 5 1.00

Bookmark
Which of the following is a global agreement to protect the Earth’s ozone layer by phasing out the
chemicals that deplete it?

ARG IR 68QT, B6RIF 201G FB6AN Q2SI AUNAGT ALIig MIER AER LI @R ( phasing out the
chemicals) J2R19 66GIe 949G 4ol 6961 AR 6LIR2)Ql 9a S4I1A 987
(A) O Kyoto Protocol

6QYleel 6dIT@M (Kyoto Protocol)
(B) © Montreal Protocol (Correct Alternative) (Choosen Option)

f1&@m 69I9aM (Montreal Protocol) (Correct Alternative) (Choosen Qption)
(C) © Ramsar Convention

QLD FF6eds (Ramsar Convention)
(D) O Paris Agreement

QIR 9116514 (Paris Agreement)

Question No. 6 1.00
Bookmark
The Banking Ombudsman Scheme was first introduced by the Reserve Bank of India in the year:
QUIEEP BA9L YIS &¢1 (Banking Ombudsman Scheme), €2I6¢1 QIRE 19 @6 QYIE Il &F 69
219¢ QUM

(A) O 1995 (Correct Alternative)
1995 (Correct Alternative)
(B) O 1975
1975
(C) O 1985
1985
(D) O 1965 (Choosen Option)
1965 (Choosen Option)

Question No. 7 1.00
Bookmark
Which of the following types of Soil is known for ‘Self Ploughing’ Character?
FIMES IR 699 Jalal f1@@!, '9° SI¥’ (Self Ploughing) 96! aim weligéll 26s ?
(A) O Black Soil (Correct Alternative)
Q9 £@a1 (Black Soil) (Correct Alternative)
(B) © Red and Yellow Soil
@M @ 2RQ2I €]@< (Red and Yellow Soil)
(C) O Alluvial Soil (Choosen Option)
Qg IS (Alluvial Soil) (Choosen Option)
(D) O Laterite Soil
YIRS F)aR! (Laterite Soil)

Question No. 8 1.00
Bookmark
Which Constitutional Amendment Act added Eleventh Fundamental Duty to the Indian Constitution?
690 RIS L°6HING 2R, QURG1E IRIFER IRINESH 66177 K6y 6TAR?
(A) O 44th Constitutional Amendment Act,1978
44 GF SERIG o6ERIQ ZRITAE,1978
(B) © 86th Constitutional Amendment Act,2002 (Correct Alternative)
86 @7 ATRIIG L°6SIIAT AT A,2002 (Correct Alternative)
(C) O 97th Constitutional Amendment Act, 2011
97961 ATRIIQ G°6HIRIG ZRITLS. 2011
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(D) O 42nd Constitutional Amendment Act, 1976 (Choosen Option)
42061 AFRIIG A°6EIIRIQ 2RITAA, 1976 (Choosen Option)

Question No. 9 1.00

Bookmark
Where was the 21st session of the Conference of the Parties (COP21) to the United Nations Framework
Convention on Climate Change (UNFCCC) held?

ARG AIG2°AR FRIIL. Q@Q@Q 6EPEIGIA RR6QRYE S1 United Nations Framework Convention on Climate
Change (UNFCCC) QIR QIS 98RG1 §1 Conference of the Parties (COP21) @ 21 @¢1 2RI6Q€S 68Q0I6R
298G 6LIR2MI?
(A) O Paris (Correct Alternative) (Choosen Option)
QuIRg (Paris) (Correct Alternative) (Choosen Option)
(B) © Cancun
aleqa (Cancun)
(C) O Madrid
IS (Madrid)
(D) O Glasgow
165l (Glasgow)

Question No. 10 1.00

Bookmark
The Temperate Grasslands of Australia are called

A6Y MR FITEN6SIY GEQE (Temperate Grasslands) @ QLI |
(A) O Prairies
dIRQR (Prairies)
(B) O Velds
cmd (Velds)
(C) O Downs (Correct Alternative)
¢19ed (Downs) (Correct Alternative)
(D) O Campos (Choosen Option)
@leetied (Campos) (Choosen Option)

Question No. 11 1.00

Bookmark
Which of the following lakes is located in the state of Manipur?

UGS 29 FRIQ 699F AGYR QURYES 29TS?
(A) O Ulsoor Lake
Lngal 29
(B) © Harike Lake
L0629
(C) O Loktak Lake (Correct Alternative) (Choosen Option)
6MIRCIR €% (Correct Alternative) (Choosen Option)
(D) O Tam Dil Lake
PF Om 29

Question No. 12 1.00

Bookmark
When the primary tributaries of rivers flow parallel to each other and secondary tributaries join them at
right angles, the pattern is known as:

66966 F91R JIIFA QUGS JRE8 9E6 IAISAIR QIRER URITE £9 9Q° §0194 QURQIgea
aeleRIsea 21d 6gllem 986 F618, 9@ QI8 (pattern), QTR Wéllgéll 26T |
(A) O Trellis Pattern (Correct Alternative)
@IE 9946 Q181 (Trellis Pattern) (Correct Alternative)
(B) O Centripetal Pattern
SG?QI@E]_‘SH @l4l (Centripetal Pattern)
(C) O Radial Pattern
gl 996 QIEl (Radial Pattern)
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(D) O Dendritic Pattern
RIS QI8 (Dendritic Pattern)

Question No. 13 1.00
Bookmark
The poetic work 'Nandikeshwari' was written by:
PECI AITGY 'eLeaq, @9 emeelem ?
(A) O Madhusudan Das
R @Id
(B) O Kabibara Radhanath Ray (Correct Alternative)
289 QRIIFI2 QUG (Correct Alternative)
(C) O Fakir Mohan Senapati
PR 6L 69196
(D) © Gourishankar Roy (Choosen Option)
6GIREI@R QUL (Choosen Option)

Question No. 14 1.00
Bookmark
Which Article of the Indian Constitution guarantees 'Equality of Opportunity in matters of Public
Employment'? ]
QNS ARG 69 A, 'AQRIU ‘:T‘JEEG‘BI gedlola dellael' @ (Equality of Opportunity in matters of
Public Employment) QIR G497
(A) O Article 32
eigl 32
(BY O Article 16 (Correct Alternative) (Choosen Option)
AIgl 16 (Correct Alternative) (Choosen Option)
(C) O Article 18
igl 18
(D) O Article 23
gl 23

Question No. 15 1.00
Bookmark
Who among the following was the first woman President of the Indian National Congress?
TN RIQ T, VRSN RIF1L K°699R FalFl AIZRI AQUDES 2Jem?
(A) O Muthulakshmi Reddy
IS 696
(B) O Pandita Ramabai
gl QIRIR
(C) O Kadambini Ganguly
QRIQTA1 Sl
(D) O Annie Besant (Correct Alternative) (Choosen Option)
2§ 6998 (Correct Alternative) (Choosen Option)

Question No. 16 1.00
Bookmark
When did the Battle of Buxar take place?
Qg9 J& 6969 6Llmeml ?
(A) O 1757
1757
(ByO 1776
1776
(C) O 1764 (Correct Alternative) (Choosen Option)
1764 (Correct Alternative) (Choosen Option)

(D) 1784
1784
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Question No. 17 1.00
Bookmark
How many Subjects were mentioned in the Union List of Original Indian Constitution?
AR QUG LRI 699 GIRG! (Union List) 63 606515 G860 QERS @QUAIR2IMI?
(A) O 94
94
(B) O 97 (Correct Alternative)
97 (Correct Alternative)
(C)O 95
95

(D) O 100 (Choosen Option)
100 (Choosen Option)

Question No. 18 1.00

Bookmark
Who has the authority to make laws on the subject 'arms, firearms, ammunition and explosives' according
to the seventh schedule of the Indian Constitution?

QU1 ATRISA A 29901 AKX ‘29, 26PN, 69IRILQQ I9° F6LIR NG (arms, firearms,
ammunition and explosives) @U6R 2IRG FR GRQIA 2GR RITIQ 2AR?
(A) O Parliament of India Only (Correct Alternative)
6ReM LINL 4°de (Correct Alternative)
(B) O Ministry of Defence (Choosen Option)
de9gl A1gIRE: (Choosen Option)
(C) O Both the Parliament and State Legislature
QR 2°9Q 99° QURY USRI
(D) O State Legislature Only
699F QURY QULLITS!

Question No. 19 1.00
Bookmark
Which of the following organisations publishes the Red List of Threatened Species?
FUMEG AR 66Q L°gl, L°RFIUT QITD 696 M (Red List of Threatened Species) daldie K697
(A) O IUCN (Correct Alternative)
IUCN (Correct Alternative)
(B) © UNEP
UNEP
(C) O WWF
WWF
(D) O UNDP
UNDP

Question No. 20 1.00

Bookmark

Who was the first Indian governor of the Reserve Bank of India?
BAINGTIN QR6 QUIRR T2IFl ARSI TR §9?
(A) O Shaktikanta Das

38318 Qg
(B) © DrMD Patra

QB 9Ia G Qg
(C) O Sir Osborne Smith

AR BARE 2
(D) © C D Deshmukh (Correct Alternative) (Choosen Option)

a9 G 69461981 (Correct Alternative) (Choosen Option)

Question No. 21 1.00
Bookmark
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When was the "Stand Up India" scheme launched?
"RIg 2 R821I" (Stand Up India) 6QIRA 6868 200 68RI?
(A) O 2019
2019
(B) O 2017
2017
(C) O 2016 (Correct Alternative)
2016 (Correct Alternative)
(D) O 2014 (Choosen Option)
2014 (Choosen Option)

Question No. 22 1.00
Bookmark
The Gini coefficient is a measure of inequality developed by the
G 6QINTPE 94l (Gini coefficient) 69Q& 2AAIFRIR 9% FIld (measure of |nequa|1ty) de @9kl
Iqde cLinaml |

(A) O Mark Gini
ais §& (Mark Gini)
(B) © Edward Gini
9944 88 (Edward Gini)
(C) O Corrado Gini (Correct Alternative)
6R1RU6E GG (Corrado Gini) (Correct Alternative)
(D) © Raymond Gini
691718 9% (Raymond Gini)

Question No. 23 1.00
Bookmark
When was the Inter-State Council established in India?
QUALER 2IBBAURY IRYL (Inter-State Council) 6869 JLY 6LIRMI ?
(A) O 1980 (Choosen Option)
1980 (Choosen Option)
(B) O 1990 (Correct Alternative)
1990 (Correct Alternative)
(C)O 1970
1970
(D) O 1960
1960

Question No. 24 1.00

Bookmark
Which of the following rivers is the tributary of the Indus River?

FIMGIS FIQ 6RE §Q1, g9 9910 QUK 268'?
(A) O Tapi
@l
(B) © Narmada
qeial
(C) O Son
edia
(D) O Jhelum (Correct Alternative) (Choosen Option)
68 m¢fl (Correct Alternative) (Choosen Option)

Question No. 25 1.00
Bookmark
In which session, did the Moderates and Extremists of the Indian National Congress split?
=171 REFFIRED, LVIRNGT WIS R°6YLR LRI IL° SRIUTICNES (Moderates and Extremists)
UGS 6LIRe/6m?
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(A) O Calcutta session of 1906
1906 69 SMAC! 26IEE
(B) O Surat session of 1907 (Correct Alternative) (Choosen Option)
1907 691 NG’ 21I6S6IR (Correct Alternative) (Choosen Option)
(C) © Bombay session of 1903
1903 69 Q6¢L 26T
(D) © Madras session of 1908
1908 69 £l 2llexela

Question No. 26 1.00
Bookmark
Khalsa, (Punjabi: “the Pure”) the purified and reconstituted Sikh community was instituted by:
SIRQl, (Q&IR: “988") §F G2l Ye82°50e 4% AfKI (the purified and reconstituted Sikh community)
@ 9I01 JGTE 6QIReMI |
(A) O Guru Gobind Singh (Correct Alternative) (Choosen Option)
gQ 698L &° (Correct Alternative) (Choosen Option)
(B) © Guru Har Krishan
95 LA Gl
(C) © Guru Har Rai Sahib
IR 29 AR AER
(D) © Guru Tegh Bahadur
o 666l QLI

Question No. 27 1.00
Bookmark
River Nile is located in which of the following continents?
@18 841 (River Nile), 8¢ FRIQ 609 FITI69E6R ASES?
(A) O South America
Q& 261t
(B) O Australia
26 mall
(C) O Africa (Correct Alternative) (Choosen Option)
21§ <1 (Correct Alternative) (Choosen Option)
(D) O Asia
Nala]

Question No. 28 1.00
Bookmark

Which of the following Articles of the Indian Constitution empowers the High Courts to issue writs?
QUASI AR TIRYYS FRIQ 68 IS, QIQ&GQI@@ 2AIRCQE (writs) IR ARG VAGI IR [EQA?
(A) O Article 32

&l 32
(B) O Article 226 (Correct Alternative)

AIgl 226 (Correct Alternative)
(C) O Article 324 (Choosen Option)

Aol 324 (Choosen Option)
(D) O Article 312

&g 312

Question No. 29 1.00

Bookmark
The 13th century Ananta Vasudeva Temple of Bhubaneswar was built by

13 BFl SIPINER @Y, RRETYNRN ARG FIYEL F1Q ada aoelem ?
(A) O King Anantavarman Chodagangadeva
AR ARSI 6Q1PolEPeLYS
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(B) © Queen Kolavati Devi
QU ARILBT 6L

(C) O King Bhanudeva
QU QUFELR

(D) O Queen Chandrika (Correct Alternative) (Choosen Option)
QUEN 4RI (Correct Alternative) (Choosen Option)

Question No. 30 1.00
Bookmark
Where is the headquarters of the Food Corporation of India located?
RURR1E $I9Y Q6IEl (Food Corporation of India) R €J814IRE, 62R0I69 AFS?
(A) O Mumbai (Choosen Option)
£]FUR (Choosen Option)
(B) O New Delhi (Correct Alternative)
el @f1 (Correct Alternative)
(C) O Hyderabad
LRGAULIL
(D) O Kolkata
6RIN@IG!

2) Arithmetic

Question No. 1 1.00
Bookmark
How many kilogram of sugar costing ¥ 43 per kg must be mixed with 61 kg of sugar costing ¥ 41 per kg
so that the resultant cost price of the mixture is T 42 per kg?
kg 98I 2 41 QA 61 kg 501 D€ kg TR T 43 QR 6265 501 TEInem ARSI F569 @A kg TR T 42 689
?

(A)O 65
65
(B) O 63
63
(C) O 61 (Correct Alternative)
61 (Correct Alternative)
D)o 67
67

Question No. 2 1.00

Bookmark
A sum of money is distributed among A, B, C, D in the proportion of 28:29:30:31. If D gets 990 more
than C, what is B's share? (In %)

9@ QUG A, B, C, D 16 28:29:30:31 AGASER 1§ 2GR | 9T D, C OIR T 990 2% ARRI , 6661
BQ QU9 6968 ? (% 69)
(A) O 25710
25710
(B) O 26710
26710

(©) O 27710
27710

(D) © 28710 (Correct Alternative)
28710 (Correct Alternative)

Question No. 3 1.00

Bookmark
Find a number such that when 36 is subtracted from 8 times the number, the result is 24 more than 3
times the number.
69Q MU 8 eI 36 Q6L FEM, ARSI 64PN YR 3 AR 24 2R 6€9F 7

A O 18
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(D) © 12 (Correct Alternative) (Choosen Option)
12 (Correct Alternative) (Choosen Option)

Question No. 4 1.00

Bookmark
Find the Total surface area of cuboid, whose length, breadth and heights are 22cm, 24cm and 26cm

respectively. (In cmz)
@ 2Ifeds QU drlg Y n9 68eh 240 a9, QTR 6344, 99 99° AGCl Q2IF6S 22cm, 24cm IS°
26cm 268 | (cm? 69)
(A) O 3448 (Correct Alternative)
3448 (Correct Alternative)
(B) O 3548
3548
(C) O 3648
3648
(D) O 3348
3348

Question No. 5 1.00

Bookmark
The product of two numbers is 2541 and their L.C.M is 231. Find the G.C.D of the numbers.
9@RG A°GYIQ JEITPR 2541 IQ° 6QFlIeE M.ALY. 231 26T | 6AIRE Y ARIXE QRS (G.C.D) ada eq
I

AO 7
74

(B)O 13
13

(C) O 11 (Correct Alternative) (Choosen Option)
11 (Correct Alternative) (Choosen Option)

DO 9
9

Question No. 6 1.00
Bookmark
1800 candidates appeared for an examination, of which 1350 passed. Find the pass percentage.
1800 @4 912l 98 agusl 6QQRI6M, 6ACIRE CRIQ 1350 K4l AIF KM | AIY 2Q2JQ giche geae f¢a aal |
(A) O 75% (Correct Alternative) (Choosen Option)
75% (Correct Alternative) (Choosen Option)
(B) O 70%
70%
(C) O 80%
80%
(D) O 85%
85%

Question No. 7 1.00

Bookmark

Jerome obtained 74, 67, 78, 71 and 83 marks(out of 100) in English, Mathematics, Physics, Chemistry
and Biology. What is his average mark?
6R6RUE R°AURT, F8G, ALl FRIQ, QLS TRIF I9° F1Q FRIFER 74, 67, 78, 71 99° 83 €lF (100 Q)
dIRER | ISR SINULIA FIF 6966 ?
(A) O 74.6 (Correct Alternative) (Choosen Option)

74.6 (Correct Alternative) (Choosen Option)
B)O 736

73.6
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©)O 726
726
(D) 75.6
75.6

Question No. 8 1.00

Bookmark

Find the largest scale size to measure accurately, the three equilateral triangles with sides measuring 144
cm, 192 cm and 240 cm. (In cm) ]
144 cm, 192 cm \99° 240 cm QIg 4% G6QIT ASIE ERAG 208 A6 AITS! AR eRf 64n 2IRIR
Qo e | (cm 69)
(A) O 46

46
(B) O 50

50
(C)O 44

44
(D) O 48 (Correct Alternative)

48 (Correct Alternative)

Question No. 9 1.00
Bookmark
If 12% of 80% of 50% of a number is 1968, then what is the number?
AT 9F D°HYIR 50% 9 80% B 12% 6LQR 1968, 6564 L°HYIT 6566 ?
(A) O 43000
43000
(B) O 42000
42000
(C) O 41000 (Correct Alternative)
41000 (Correct Alternative)

(D) O 40000
40000

Question No. 10 1.00
Bookmark
Kishan bought a pen for 1505 and sold at ¥ 1806. Find the gain percentage.
@IS 99 696 T 1505 65 @8l T 1806 691 37 aml | AIN go8e da a9l |
(AYO 13
13
(B) O 25 (Choosen Option)
25 (Choosen Option)
(€) O 30
30
(D) O 20 (Correct Alternative)
20 (Correct Alternative)

Question No. 11 1.00

Bookmark

If a bus travels from city A to city B with a speed of 297 kmph and another bus travels from city B to city A
with a speed of 207 kmph, find the relative speed when both the buses cross each other. (In m/s)
A9 99 99, 4L A Q 992 B § 297 kmph 626169 LGl @62 99° AGY 9Q 99, €A B Q LR A q 207
kmph 69965 HIGI G6Q, 6668 ARG 99 JALRG 2TTA RICLER 26ATR 694 ada a9 | (m/s 69
(A)O 134

134
(B)O 138

138
(C) O 140 (Correct Alternative) (Choosen Option)

140 (Correct Alternative) (Choosen Option)
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(D) 136
136

Question No. 12 1.00

Bookmark

A, B and C can complete a piece of work in 675, 450 and 1350 days respectively. Working together, they
will complete the same work in how many days?
A, B 99° C Q2lIg6£1 675, 450 99° 1350 @069 Ya RIdY 649 @RTI0g | K10 KIfl 95, 69668 6R6@
Ge6a 998 Q1Y 649 /R6S7?
(A) O 225 (Correct Alternative) (Choosen Option)

225 (Correct Alternative) (Choosen Option)
(B) O 230

230
(C)O 235

235
(D) O 220

220

Question No. 13 1.00

Bookmark

Aisha goes to B from A at a speed of 30 km/hr and returns at a speed of 32 km/hr. If she takes 62 hours
for going and coming back, then find the distance between A and B. (In km) )
2lcasl AQ B G 30 km/hr 626162 QIR 32 km/hr 696168 6¢Pa 2RI | 9T 69 831 6 624 21T AR 62
Q& T G, 6668 A 99° B FIUIER 9G] 242 99 | (km 69)
(A) O 970

970
(B) O 950

950
(C) O 960 (Correct Alternative) (Choosen Option)

960 (Correct Alternative) (Choosen Option)
(D) O 980

980

Question No. 14 1.00
Bookmark
By selling a CPU for ¥ 3335, a man gains 15%. At what price should he sell it to gain 25%7? (In ¥)
4@ CPU g 2 3335 601 @5 98, 966l 4@ 15% RIW UGS RO8 | 6869 25% MG RS AR el 69
ARYER OF @0RIg U8 ? (2 69)
(A) O 3625 (Correct Alternative)
3625 (Correct Alternative)
(B) © 3615
3615
(C) O 3645
3645
(D) O 3635
3635

Question No. 15 1.00

Bookmark
Find the remainder when product of 5 consecutive natural numbers from 3242 to 3246 (both inclusive) is
divided by 5.

3242 Q 3246 (QRELL °¢lYl 9L) FRIEA 5 § TR F6IT °HUIR YEPRG 5 TR QUG FEM, RQUNEHIY 6966 689
b

(A) O 1 (Choosen Option)
1 (Choosen Option)

(B) O 0 (Correct Alternative)
0 (Correct Alternative)

€O 2
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D)o 3
3

Question No. 16 1.00

Bookmark

The average age of A, B and C was 55 years and that of A and B was 55 years. Find the present age of
C.
A, B 99° C @ QIULIR 904 55 @d Ml 9e° ANQ° B @ QIQUTIR 904 55 od 2ml | C & QECle Qo fda
@ |
(A O 53

53
(B) O 55 (Correct Alternative) (Choosen Option)

55 (Correct Alternative) (Choosen Option)

(€) O 51
51

(D) O 57
57

Question No. 17 1.00
Bookmark
Find the value of x.
V7056/21 - V5041 + V11025 x 8 = x
xQ e ada e
\V7056/21 - Y5041 + V11025 x 8 = x
(A) O 803
803
(B) O 783
783
(C)O 793
793
(D) O 773 (Correct Alternative)
773 (Correct Alternative)

Question No. 18 1.00
Bookmark
Find the value of x.
10260+[(3/4)(74+68)-28(3/4)] = x
X QEAY Fea @ |
10260+[(3/4)(74+68)-28(3/4)] = x
(A) O 140
l 140
By O 150
150
(C) O 120 (Correct Alternative)
120 (Correct Alternative)
(D)o 130
130

Question No. 19 1.00
Bookmark
Find the surface area of the sphere, given that the radius is 6cm and m = 3.14 (cmz).
@ 60ING Q IR 6QLT M f4la A9, QUIAIS 6em 98° T = 3.14 QR 2R | (cm? 6%)

(A) O 462.16
462.16

(B) © 482.16 (Choosen Option)
482.16 (Choosen Option)
(C)O 472.186
472.16
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(D) O 452.16 (Correct Alternative)
452.16 (Correct Alternative)

Question No. 20 1.00

Bookmark

Laxman and Farook together can do a piece of work in 188 days and Jayanth can do it in 564 days. In
how many days will Laxman, Farock and Jayanth do it together?
4% Q1919 AYE 99° FIQR IKI0 188 G609 KRWIGE 99° GAS 697 RIFIg 564 TREQ FALIES | MAE,
FI9R 99° KAS Y10 69R RIFg 6960 TRE ARER?
(A) O 137

137
(BYy O 129

129
(C) O 141 (Correct Alternative) (Choosen Option)

141 (Correct Alternative) (Choosen Option)
(D)O 133

133

3) Analytical Reasoning and Mental Ability

Question No. 1 (Case Study From Q.No 2 To 6) 5.00

Bookmark
Directions: Read the given information carefully and answer the questions that follow.
Eight players A, B, C, D, E, F, G and H are seated in a square table - two on each side. All the players are
facing the centre.
a) A sits diagonally opposite to H.
b) G sits fourth to the right of E.
¢) D and H are neighbours.
d) H sits third to the left of C who sits diagonally opposite to B.
e) C doesn't sit on the side of the square table in which A or E sits.
TEEEISRM : g9 Joelg ONEIEE d€ I9° QAIAINZS g9 aq &2 |
20 @6l 68IMIm1A, B, C, D, E, F GIQ° H Iq RIS 609MER IR, T6GYR aléjea 9o @6 TRE | 9019
65IRIN 699G F9 F9RT |
a) A 66698 QI YIREIINIM H @ FAICER @4 |
b) G, E 9 @I914l 9% £526q 98& |
c) D ¥99° H 962161 258 |
)
)

d) B 9 68692 91 SIR6TIFIA SANSER FTYR C 9 QIFl A9 §H1A60 H 98E |
e) AR9 E, Soll9IR 659MS! 699! AlgeR SARE, 69 DI6R C FA RIL |

Bookmark
Which of the following is the odd man out, with respect to the arrangement?

LY 26N, FIRYE FRIQ 6046 AAGFE (odd man out) 26E' ?

(A) O CE (Correct Alternative)

CE (Correct Alternative)
(B) O AF (Choosen Option)

AF (Choosen Option)
(C)O GC

GC

(D)o EB
EB

Bookmark
Who sits third to the left of G?

G 9 QIF1 99§19, JIRER B9 EF?

(A) O B (Correct Alternative)
B (Correct Alternative)

(B)O H
H
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©o Db
D

D)o C
C

Bookmark
Who sits exactly between E and A?

E \9e° A OR Fil6Q @9 948 ?

OO0 OO T

(D) © F (Correct Alternative)
F (Correct Alternative)

Bookmark
Who sits third to the right of the one who sits second to the left of C?

C Q QIfl I §L16Q IS Q4B L1216l IF QLIN6R &Y T8 ?

(A) O

=
O
WW MM IT

(D) O A (Correct Alternative)
A (Correct Alternative)

Bookmark
Who sits exactly opposite to F?

F Q 0@ QaQIo60 &4 948 ?

A OB
B

(B) © H (Correct Alternative)
H (Correct Alternative)

€ O

D
D
DO G
G

Question No. 7 1.00

Bookmark
Which of the following symbols should replace the questions mark (?7) in the given expression in order to
make the expression ‘E < T' definitely true?

N<A2T2U?Rz2E ] ]
dAGRIS ‘E < T' g G686 969 984 EAITe 8091 dIR GRS FRIQ 694 4819, dea gl 2l g4
8¢ (?) g 909ITe /9% ?

N<AzTzU?RzE
(A) O

AN IANIA T
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(D) O = (Correct Alternative) (Choosen Option)
> (Correct Alternative) (Choosen Option)

Question No. 8 1.00
Bookmark
Four of the following five are alike in a certain way and so form a group. Which is the one that does not
belong to that group?
H.F B N.E B :
?‘aﬁﬁiﬁ AIFTQ FIEAT 97 FTY GQISER 994 AGE I8° G AL F0G K9G | 6948 69R AFER ASHS
g6% ?
H;FP, N, E
AOH
H

(B) O E (Correct Alternative) (Choosen Option)
E (Correct Alternative) (Choosen Option)

€O P
P
(DO N
N
Question No. 9 1.00
Bookmark
Which one of the following images numbered as (1), (2), (3), (4) will be the next image for the given
series?

(1), (2), (3), (4) QULER FFIR 6TIR2G FIREE T8 FRIQ 6QET, YIQ §FIR IOSE §¢ 628 ?

(A) O 1 (Choosen Option)
1 (Choosen Option)

B)O 2
2
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(C) O 4 (Correct Alternative)
4 (Correct Alternative)

Do 3
3

Question No. 10 1.00
Bookmark
Find the next number in the series.
4,16, 36, 64, 100, ?
goa A9HI169 oeal A°GIT fda aa ?
4 16, 36, 64, 100, ?
(A) O 118
118
(B) O 144 (Correct Alternative) (Choosen Option)
144 (Correct Alternative) (Choosen Option)
(C)O 168
168
(D) O 122
122

Question No. 11 1.00
Bookmark
Find the missing term in the series.
512,128,7, 8,2
goa AGe76R F6dlia 990 Gda /a2
512,128, 7,8,2
(A) O 32 (Correct Alternative) (Choosen Option)
32 (Correct Alternative) (Choosen Option)
(B)O 64
64
(C) O 40
40
(D) 100
100

Question No. 12 1.00
Bookmark
Which one of the following images numbered as (1), (2), (3), (4) closely resembles the mirror image of the
given figure? ]
(1), (2), (3), (4) QIFER TR 6LINYS| FYMGIG 5C FUQ 69615, 198 589 @4 9ERaR FReRe 2gd
aes ?
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€) O

A WWwWwMON

(D) © 1 (Correct Alternative) (Choosen Option)
1 (Correct Alternative) (Choosen Option)

Question No. 13 1.00
Bookmark
In this question, relationship between different elements is shown in the statement. This
statement is followed by two conclusions:
Statements: E<L;A>V. W<T. V=L E>W
Conclusion:
nvzw
iL<A

Choose the appropriate one from the following options

(A) Only conclusion i follows

(B) Only conclusion ii follows

(C) Either i or ii follows

(D) Neither i nor ii follows

(E) Both i and ii follow.

dg69, F0g QUIFIGE U6 2l af1e, RY6R FHIINEG | 9§ 9D U6R g dad FANE :
fRY:EsSLA>V,W<T, V=L E>W
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ged :
i)V W
i) L <A

a9 el Q0@ 9Q7% S48 @

(A) 6990 oad i 2GRS TR

(B) 6997 &394 i A998 96

(C)i @9 ii AGAE QER &

(D) i @Y ii dGENél 6N Qe

(E) Q@ i 99° ii 29998 @6

(A) O B (Correct Alternative)
B (Correct Alternative)

© O
(D) O

coO0O0 >»>r

Question No. 14 (Case Study From Q.No 15 To 17) 3.00

Bookmark
Directions:
In a certain code language:
'won son mon ion' is written as 'it is red apple’,
'ton non don ion won' is written as 'apple is good for health',
'ion won son kon' is written as 'it is bad apple',
'kon don won non lon' is written as 'liquor is bad for health’
FELINR :
9@ FEY 6QIS QNI :
'won son mon ion' §q 'it is red apple’ QIFEQ EMS AR,
'ton non don ion won' § 'apple is good for health’ QIS6% 6MSl| Ja&,
'ion won son kon' q 'it is bad apple' @65 6mSl| A&,
'kon don won non lon' § 'liquor is bad for health’ QISER 6MEI AIRE |

Bookmark
What is the code for 'apple’ in the given code language?

dY'a 651% QA6 'apple’ 9! 641% @él 6¥e 7

(A) O don
don
(B) © son
son
(C) O ion (Correct Alternative) (Choosen Option)
ion (Correct Alternative) (Choosen Option)
(D) O won
won

Bookmark
What does the code 'non' stand for?

6918 'non’ RIEI AN IYRY 26T ?
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(A) O health (Choosen Option)
health (Choosen Option)
(B) O cannot be determined (Correct Alternative)
PHING FAULIR VRS QIE (Correct Alternative)
(C)O is
is
(D) O for
for

Bookmark
What does the code 'is bad' stands for?

6QI2 'is bad' QT AN g Y 26T ?

(A) © wonion
won ion
(B) O won kon (Correct Alternative)
won kon (Correct Alternative)
(C) © wondon
won don

(D) © won son (Choosen Option)
won son (Choosen Option)

Question No. 18 1.00
Bookmark
A man walks 12km towards West; takes a right turn and walks 5km. He then walks 5km towards the
starting point and reached the destination. How far is he from the starting position?
@66 QU@ A8l 2L 12 km FIMeM; NG GILIE 65119 685 5 km SImem | Sra6R 64 2Iow 8 2leg 5 km
SIm S189Y IR6Q JeF6m | 69 2R NG 6Q6S @6 2]T ?
(A) O 12km (Choosen Option)
12km (Choosen Option)
(B) © 13km
13km
(C) O 10km
10km
(D) O 8km (Correct Alternative)
8km (Correct Alternative)

Question No. 19 1.00
Bookmark
If, in the number sequence 24 57896 32145, all the odd numbers are decreased by one and all the
even numbers are decreased by two, then the new number sequence is arranged in ascending order,
which will be the fourth digit from the left?
4, A6l 9912457896 3214569, 909 2Jq 2°6lUI60 If LI fAUAN 98° 999 9 €°6IeR Y&
L9 @ 99° gea 46Ul felg AFFE6R (62199 99) ARIR Q2K 656Q QI ATR G‘Q?J AD 6960
6w9 ?
(A) O 2 (Correct Alternative)
2 (Correct Alternative)

DO 000 DM

Question No. 20 1.00

Bookmark
Four of the following five are alike in a certain way and so form a group. Which is the one that does not
belong to that group?
CH, OT,VZ, GL,EJ
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‘5‘?;1@91‘8 AETR 16U 9K 00 QUK 494 29T 99° 9Q AL G109 KR8 | 6096 69R 4e)Eal 289%
gee ?
CH, OT,VZ, GL, EJ
(A) O VZ (Correct Alternative) (Choosen Option)
VZ (Correct Alternative) (Choosen Option)
(B) O CH
CH
(©) O EJ
EJ

DO GL
GL

Question No. 21 1.00
Bookmark
O and N are in the East of M. P is in the North of O and North-East of N. Which direction of O, is N?
M Q 9969 O 98° N 288 | 0 6 QA969 99° N 2 Qa9-gJ96a P 28 | O 6l 6% @669 N 28 ?
(A) O North
LER
(B) © South
o8l
(C) O East (Choosen Option)
qc.‘ (Choosen Option)
(D) © West (Correct Alternative)
<8¢l (Correct Alternative)

Question No. 22 1.00

Bookmark
If all the vowels are replaced by the immediate next consonant from the English alphabet series in the
word TRANSMISSION, then the letters of the word are arranged alphabetically, which letter will be fifth to
the left of the fourth letter from the right?

2% TRANSMISSION €99 919 9994dg, a°aia1 edain 29960 0@ aae6l fuaeed gl gggde
AU, BI'U69 S99 2AVGEg F¢AIR 569 AR TR 6968 FITIE A9 99 2AVAR FIEl AT A%
2B 96 699 ?

AO P
P

(B) © M (Correct Alternative) (Choosen Option)
M (Correct Alternative) (Choosen Option)

© o R
R

Oyo s
S

4) Computer and Internet Awareness

Question No. 1 1.00

Bookmark
Cache memory .

@uled 6¢16¢11QU (Cache memory), aeg |
(A) O Is a permanent memory
e e QI 6416411 (Is a permanent memory)
(B) O Temporarily stores very active data (Correct Alternative) (Choosen Option)

921 29YE AIRW L191g 2 KIES VIR K69 (Temporarily stores very active data)
(Correct Alternative) (Choosen Option)

(C) O Is nota memory at all ]
g 661165 IR 651651191 QGQJ(IS not a memory at all)
(D) O Is a Machine language program
921 9K 66190 MIGHIR 6gIglIF (Is a Machine language program)

Question No. 2 1.00
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Bookmark
Which among the following types of display units acts as both Input and Output devices?

QIMEe AU 6@ IR GE6Q Q8% (display unit) KIT| AV REYS 99° 2IRTYS FRUIRD (Input and
Output devices) QU6 Qldy e6Q ?
(A) O Printer
94 (Printer)
(B) O LCD
LCD
(C) O Touch screen (Correct Alternative) (Choosen Option)
¢ &@ (Touch screen) (Correct Alternative) (Choosen Option)
(D) O CRT
CRT

Question No. 3 1.00

Bookmark
What is the full form of ISP?

ISP @ 94Qa @4l ?
(A) O Internet Service Provider (Correct Alternative) (Choosen Option)
NENCHD a@ga 64N (Internet Service Provider) (Correct Alternative) (Choosen
Option)
(B) © Internet Source Provider
REAEAE 6914 67IRIRFD (Internet Source Provider)
(C) O Internet Service Producer
DE6RD aed gde44a (Internet Service Producer)
(D) O Intranet Service Provider
DEIEQD g 64N (Intranet Service Provider)

Question No. 4 1.00
Bookmark
is a cryptographic network protocol for operating network services securely over an

unsecured network. .
4Q 286 650¢a AUER G AUIER 6G0QIR 6431 (network services) AU6RE° UIR, 608 99
T6USITFR 69541 6QI6S19M (cryptographic network protocol) |
(A) O SSH (Correct Alternative)

SSH (Correct Alternative)
(B) © SMTP

SMTP
(C) O TELNET

TELNET
(D) © HTTP (Choosen Option)

HTTP (Choosen Option)

Question No. 5 1.00

Bookmark
is a computer input device that allows users to point to a displayed object and draw on a CRT
screen.

62R& IQ QPSR REYS SRURND (computer input device) QI QUSTIQRIQIG I gede )

(displayed object) § 90IRQ1 99° CRT G569 e 909Ig AgaE &9 |
(A) O Light pen (Correct Alternative)

MRS 64d% (Light pen) (Correct Alternative)
(B) O Track pen (Choosen Option)

gl® 649 (Track pen) (Choosen Option)
(C) © Microphone

clReglerie (Microphone)
(D) O Printer

94\ (Printer)
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Question No. 6 1.00

Bookmark
The feature in Microsoft Word which helps to organize and maintain a long document by dividing them
into several sub documents is

CIREFIAE @IS (Microsoft Word) 69 21 638N (feature) DT 97 R FFY661€ (long document ) G 26ER
ae 2g4691& (sub documents) 62 FQS 26 L°G0G IL° AATIRT KARIER AILIAY 6, 69D 6TARY
(feature) & 269 |
(A) O Print Preview
g4 @@ (Print Preview)
(B) © Handouts
Lylalelleo'd (Handouts)
(C) O Page Layout (Choosen Option)
6du 6malas (Page Layout) (Choosen Option)
(D) ©O Master Document (Correct Alternative)
g0 @QU6E1€ (Master Document) (Correct Alternative)

Question No. 7 1.00
Bookmark
What is the shortcut key to invoke a Save As dialog box in MS Word? _
MS @I¢ (MS Word) 62 99 69@2lIa Sl9mel 9F (SaveAs dialog box) § &SI AR 998 @1 (shortcut key )
@'él?
(A)O F7
F7
(B) O F10
F10
(C) O F12 (Correct Alternative) (Choosen Option)
F12 (Correct Alternative) (Choosen Option)

DO FN
F11

Question No. 8 1.00

Bookmark
What does a parallelogram shape represent in a flowchart?

6QISIS (flowchart) 62 IR AINSAR 8F (parallelogram) @ 2GS, 86 Q4IRaIg ?
(A) O Decision
©89e (Decision)
(B) © Subroutine
A9QTR (Subroutine)
(C) © Input/ Output (Correct Alternative) (Choosen Option)
RS / AIND'YS (Input / Output) (Correct Alternative) (Choosen Option)
(D) © Process
6dl644l (Process)

Question No. 9 1.00

Bookmark
What will happen if you press the shortcut key Ctrl + Esc?

Qéﬁ?&}‘ @1 Ctrl + Esc § 9QIR6m @6l 629 ?
(A) O Will open the windows start menu (Correct Alternative)
I3 [ala)] Q«I‘B1 6¢19 369G 629 (Will open the windows start menu) (Correct Alternative)
(B) © Will open all windows in the task bar
a¢1g d6dla, 919 QIR B69a 689 (Will open all windows in the task bar)
(C) O Will close all windows (Choosen Option)
a¢19 86dlla 9% 6TIRLS (Wil close all windows) (Choosen Option)
(D) O Will open all applications in the computer
RSN IA1Y 2IFERAR 369K 628 (Will open all applications in the computer)
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Question No. 10 1.00
Bookmark
is a network connection device that performs the modulation and demodulation function.
6R0R I8 69549q F699% @R (network connection device) JILIR 6€lIGUERLR I9°
L6AIgUsMLe P@LR (modulation and demodulation function) @52l |
(A) O Gateway
60l9'64 (Gateway)
(B) © MODEM (Correct Alternative) (Choosen Option)
69ll6e el (MODEM) (Correct Alternative) (Choosen Option)
(C) O Switch
gmo (Switch)
(D) © Router
QUG (Router)

Question No. 11 1.00

Bookmark
Options such as new, open, save and save as are available under of a document.

9@ GQUEFIER ALRGER, 6D9R QU, B6UR, 69 IK° 69R 2R (new, open, save and save as) @ 2R,
RAFERN Admg 29 |
(A) O Edit Menu
9GS 6419 (Edit Menu)
(B) O Help Menu
69, 6¢19 (Help Menu)
(C) O Recent Menu
Q698 6619 (Recent Menu)
(D) O File Menu (Correct Alternative) (Choosen Option)
Flam 6¢1g (File Menu) (Correct Alternative) (Choosen Option)

Question No. 12 1.00

Bookmark

In Microsoft Excel, the 'Record Macro' option is available under tab.
FlRegld<E degm (Microsoft Excel) 69, falaln ¢l6g!l' (Record Macro) 2194&, U 2RPERN
Qdmg g9 |
(A) O View (Correct Alternative)

@Y (View) (Correct Alternative)
(B) O Data (Choosen Option)

%Il (Data) (Choosen Option)
(C) O Review

QU (Review)
(D) O Page layout

646 6m2llwe (Page layout)

Question No. 13 1.00

Bookmark
Adding sign before the cell reference prevents the reference in the formula from changing when
the formula is moved or copied to other cells.
6K6T6R6M Q’?jﬁal, ASY 69 (cell) LRSS g9 @Y 9T g9, 64696967 ‘a'ciﬁmsa 2|9 6QIreaY, afeee
@ 6291 AR, 69M 6QPES, (cell reference) ‘El‘&‘@ ARG (sign) 6LEI| A19ENS |
(A) O # (Choosen Option)
# (Choosen Option)

B)O &
&

(C) O $ (Correct Alternative)
$ (Correct Alternative)

D)YO %
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Question No. 14 1.00
Bookmark
The AVI was introduced by Microsoft in the year )
od 69 FlIE6FILE (Microsoft) gl AVI 29! @oldiweml |
(A) O 1991
1991
(B) O 1992 (Correct Alternative)
1992 (Correct Alternative)
(C) O 1994
1994
(D) O 1989
1989

Question No. 15 1.00

Bookmark
You can open the PowerPoint presentation in full screen mode from the current slide by pressing
key on the keyboard.

2Igél RELIE (keyboard) 66! @1 (key) QIR AIFER URE (current slide) Q AIGIATIE
696@644ag M Y& 661 (full screen mode) 69 66IIRAITESR |
(A)O F1

F1
B)O F8

F8
(C) O Shift + F5 (Correct Alternative) (Choosen Option)

Shift + F5 (Correct Alternative) (Choosen Option)
(D) O Shift+F8

Shift + F8

Question No. 16 1.00

Bookmark
is Microsoft's new browser, created for a faster and more stable browser that works well with
modern websites and adds new capabilities to the browsing experience.

62Q8 AIREFIIE (Microsoft) @ O FIRRR (browser), Y€1 98 §C 49° 2R IR IR AL
ARYER 6999IRG AEG QM [IFl KR 99° QIRE° GRS (browsing experience) 69 987 qieely 6419 K69 |
(A) O Safari

AR (Safari)
(B) © Chrome (Choosen Option)

6@l¢1 (Chrome) (Choosen Option)
(C) O Edge (Correct Alternative)

% (Edge) (Correct Alternative)
(D) O Power

diglal (Power)

Question No. 17 1.00

Bookmark

You can save your frequently visited websites and then access them later using y
2T QYR VRS K92 63ANTYLY 69R FAURES 9Q° Y6 QUeLIR A% 69929 2IR6ad
(access) @QQIR6Q |
(A) O Address Bar

2legd I (Address Bar)
(B) O Bookmarks Bar (Correct Alternative) (Choosen Option)

'@G‘ﬂlﬁfﬂ Q% (Bookmarks Bar) (Correct Alternative) (Choosen Option)
(C) O Progress Bar

641694 QIR (Progress Bar)
(D) O Status Bar

AlT'Y QI (Status Bar)
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Question No. 18 1.00

Bookmark
The primary purpose of the is to allow shared file and printer access among multiple
computers in a network.

QEIR Q6T 6LRR 99 6R54ITeR I@RIT KFIER F16R 6LRE IRM (shared file) 9Q°

849 21694 (access) g AGAG 6QQl |
(A) O Distributed Operating System

G/QU60T 26T e (Distributed Operating System)
(B) O Network Operating System (Correct Alternative) (Choosen Option)

696'3S AV A8E (Network Operating System) (Correct Alternative) (Choosen Option)
(C) O Time-sharing Operating System

FIRE-6QLIRGE AUTTEP TRE (Time-sharing Operating System)
(D) O Real Time Operating System

QM FIRC VRGP T8¢l (Real Time Operating System)

Question No. 19 1.00

Bookmark
What does .in refer to in a website name?

@ 69R4InS @I (website name) 6% .in @1€1g FRINN ?
(A) O Indonesia
@68l6adell (Indonesia)
(B) O Iceland
didmilé (Iceland)
(C) O India (Correct Alternative) (Choosen Option)
@é2ll (India) (Correct Alternative) (Choosen Option)
(D) O lIreland
2limUI& (Ireland)

Question No. 20 1.00

Bookmark
What is the expansion of ALU?

ALU Q GQI0e Q< @6 ?
(A) O Algebra and Logical Unit
2Imeagl 2lg NRRIM HAC (Algebra and Logical Unit)
(B) O Architecture and Logic Unit
269009 218 AR Y7 (Architecture and Logic Unit)
(C) O Arithmetic and Logic Unit (Correct Alternative) (Choosen Option)
92U6ATS 218 MES P& (Arithmetic and Logic Unit) (Correct Alternative) (Choosen
Option)
(D) O Arithmetic Lower Unit
JRRIGHITSR ERIAR H&'F (Arithmetic Lower Unit)

5) Current Affairs National and International

Question No. 1 1.00
Bookmark
Who among the following has been honoured with the '2022 Liberty Medal'?
FORGe FUQ [ILIG, '2022 ALT ALR’ (2022 Liberty Medal) 98¢ 94156 SQUARE ?
(A) O Donald Trump (Choosen Option)
62191m, ¢¢P (Donald Trump) (Choosen Option)
(B) O Volodymyr Zelenskyy (Correct Alternative)
CRUCAGARN 6R6MET (Volodymyr Zelenskyy) (Correct Alternative)
(C) O Vladimir Putin
QIedia g8 (Viadimir Putin)
(D) O Angela Merkel
2leaml fleam (Angela Merkel)

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

Question No. 2 1.00

Bookmark
Which State hosted India's blggest—ever defence exhibition 'DefExpo 2022' in October 20227

26N 2022 69 694 QIRY, QUG 9]‘?":3@@ geoul 994ie1 (defence exhibition) ) ‘6 dg6edl 2022
('DefExpo 2022') 2I6IRE a%ImI?
(A) O Andhra Pradesh (Choosen Option)
g 9694 (Choosen Option)
(B) O Gujarat (Correct Alternative)
oS (Correct Alternative)
(C) © Tamil Nadu
LIRS
(D) ©O West Bengal
AL Q6P

Question No. 3 1.00

Bookmark
The 44th FIDE Chess Olympiad 2022 was hosted by which country?

44 3¢ FIDE 699 2metalle 2022 (44th FIDE Chess Olympiad 2022), 690 69569 2CARE 6LIDeml?
(A) O United States of America
YUY AR
(B) O France
I
(C) © India (Correct Alternative) (Choosen Option)
LINE (Correct Alternative) (Choosen Option)

(D) O haly
Qm1

Question No. 4 1.00

Bookmark

Which among the following states has won the first prize under the large states category under the
Swachh Survekshan Grameen (SSG) 20227
FIMES I 696 QIRY, I8 F6SVE GlIFI1E (SSG) 2022 2RIFER QEE SUWY Q4 (large states category)
NP6 F2IF YRR 68 2
(A) O Telangana (Correct Alternative) (Choosen Option)

6e6mGPIG (Correct Alternative) (Choosen Option)
(B) O Kerala

caom
(C) © Maharashtra

LAY
(D) © Tamil Nadu

LIRS

Question No. 5 1.00

Bookmark
The 18th G20 Heads of State and Government Summit will take place on 9th-10th September 2023 in
which among the following cities?
aq aeQ 699 9L969, 18 B¢ G20 QUL 99° AR AFRK1 (18th G20 Heads of State and
Government Summit), 9-10 6969€IR 2023 62 QYL 689 ?
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(A) O Bali
QIR (Bali)
(B) O Paris
AU (Paris)
(C) © New Delhi (Correct Alternative)
g2l @f1 (New Delhi) (Correct Alternative)
(D) © Mumbai
g]el@ (Mumbai)

Question No. 6 1.00

Bookmark
With which country, India has signed the "Economic and Cooperation Trade Agreement” that entered into
force on December 29, 20227

690 6946 986 QING, "26FEeR 99 9L6alF SI8RY §8" (Economic and Cooperation Trade Agreement)
9199 K08 QL T6ITR 29, 2022 6 qldygion eLlmemI?
(A) O Pakistan
qzgIe
(B) O China (Choosen Option)
214 (Choosen Option)
(C) O Australia (Correct Alternative)
269 M2l (Correct Alternative)
(D) O Cuba
Quel

Question No. 7 1.00
Bookmark
Which state hosted the 36th National Games of India?
609 QIGY, QDS 36 BF AV 681 (National Games) @ 2I6HRR F2IMI?
(A) O Gujarat (Correct Alternative)
9] U% (Correct Alternative)
(B) © Assam
2l<liel
(C) O Goa (Choosen Option)
691121 (Choosen Option)
(D) O Kerala
6aom

Question No. 8 1.00

Bookmark
Which country has topped the 'Global Innovation Index 2022'?

696 694 '69SIR NERIEALE DEQF 2022' (Global Innovation Index 2022) 69 §11E6R 2AR7?
(A) O Switzerland (Correct Alternative) (Choosen Option)
gmeomile (Switzerland) (Correct Alternative) (Choosen Option)
(B) O United Arab Emirates
2OIN65E 2R 96994 (United Arab Emirates)
(C) O Canada
@Il (Canada)
(D) O Awustralia
26 M (Australia)

Question No. 9 1.00

Bookmark
Sri Lankan writer Shehan Karunatilaka has won the 2022 Booker Prize for which of the following Novels?
FARGe FRIQ 609 QURYID IR, SINRIQ 6RSIT 68218 QQENTAR 2022 99 YRR IRRT?
(A) O To Kill a Mockingbird
g am 9 aqer Qe (To Kill a Mockingbird)
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(B) © One Hundred Years of Solitude
@l 2640 R4 2P IRGYS (One Hundred Years of Solitude)
(C) O APassage to India
q QY699 ¢ 22 (A Passage to India)
(D) O The Seven Moons of Maali AlImeida (Correct Alternative)
Q@ 6dews €ad 2P flifm AINEEINRQ] (The Seven Moons of Maali Almeida) (Correct

Alternative)
Question No. 10 1.00
Bookmark
Which country has hosted the 90th General Assembly of the International Criminal Police Organization
(INTERPOL)?

699 604, RLANYILFIA FITRIM 69IRY ANIFINERLS || International Criminal Police Organization
(INTERPOL) @ 90 G¢1 ARIQE 9el 2ICAURS 2072
(A) O India (Correct Alternative)
WAL (Correct Alternative)
(B) © France
3408
(C) © Thailand (Choosen Option)
2lomylgl (Choosen Option)
(D) O Argentina
26HEQ!
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